General Info

Number: Project No. 59-20-05

Description:

SHOULDER REPAIRS AND RECONSTRUCTION EASTBOUND & WESTBOUND ROADWAYS MILEPOST 235.90 TO MILEPOST 240.82

MAHONING COUNTY, OHIO

Deadline: JULY 30, 2020 AT 2:00 P.M. (EASTERN)

(Estimated Cost: \$3,600,000.00)

Bids	
Business	Bid Total
The Shelly Company - Northeast Division	\$2,824,752.85
Chagrin Valley Paving, Inc.	\$3,001,522.86
Shelly & Sands, Inc.	\$3,036,919.34

THE SHELLY COMPANY - NORTHEAST

DDO JECT NO. 50 20 05 /Dof No. 4 40)

PROJECT NO. 59-20-05 (Ref. Nos. 1-19)							
Ref. No.		Description	Quantity	Units	Unit Price	Extension	
1	IB. ART. 6	PREMIUM FOR CONTRACT PERFORMANCE BOND	1.00	LUMP	\$10,000.00	\$10,000.00	
		AND PAYMENT BOND					
2	202	PAVEMENT REMOVED	33,217.07	SQ. YD.	\$7.40	\$245,806.32	
3	204	EXCAVATION OF SUBGRADE	50.00	CU. YD.	\$50.00	\$2,500.00	
4	204	EMBANKMENT	50.00	CU. YD.	\$40.00	\$2,000.00	
5	204	SUBGRADE COMPACTION	300.00	SQ. YD.	\$2.50	\$750.00	
6	254	PAVEMENT PLANING, ASPHALT CONCRETE (1-1/2")	2,733.33	SQ. YD.	\$5.00	\$13,666.65	
7	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING	113.89	CU. YD.	\$250.00	\$28,472.50	
		CRUSHED STONE, PG 64-22 (1-1/2" AVERAGE)					
8	407	NON-TRACKING TACK COAT	205.00	GALLON	\$3.00	\$615.00	
9	605	6" PIPE UNDERDRAINS, WITH FABRIC WRAP (30")	1,400.00	FOOT	\$12.00	\$16,800.00	
10	SP 611	12" CONDUIT, TYPE B, 707.33	300.00	FOOT	\$30.00	\$9,000.00	
11	614	CONSTRUCT NEW CROSSOVER FOR MAINTAINING	1.00	LUMP	\$275,000.00	\$275,000.00	
		TRAFFIC, AS PER PLAN					
12	SP 614	MAINTAINING TRAFIC, AS PER PLAN	1.00	LUMP	\$314,500.00	\$314,500.00	
13	SP 614	ZONE PERSON	1,440.00	HOURS	\$72.00	\$103,680.00	
14	615	PAVEMENT FOR MAINTAINING TRAFFIC, CLASS A,	36,725.33	SQ. YD.	\$45.25	\$1,661,821.18	
		AS PER PLAN					
15	619	FIELD OFFICE, AS PER PLAN	1.00	LUMP	\$20,000.00	\$20,000.00	
16	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$10,000.00	\$10,000.00	
17	624	MOBILIZATION	1.00	LUMP	\$100,000.00	\$100,000.00	
18	642	6" YELLOW EDGE LINE, TYPE 1	2.99	MILE	\$1,620.00	\$4,843.80	
19	642	6" WHITE EDGE LINE, TYPE 1	3.27	MILE	\$1,620.00		
		TOTAL BASE BID (REF NO. 1 THRU REF. NO. 19)				\$2,824,752.85	
		,					

No

TEMPORARY ACCESS DEDUCT ALTERNATE >> A Temporary Access Deduct Alternate Proposal is included in the Bid Submittal:*:

CHAGRIN VALLEY PAVING, INC.

PROJECT NO. 59-20-05 (Ref. Nos. 1-19)							
		Description	Quantity	Units	Unit Price	Extension	
1	IB. ART. 6	PREMIUM FOR CONTRACT PERFORMANCE BOND	1.00	LUMP	\$19,000.00	\$19,000.00	
		AND PAYMENT BOND					
2	202	PAVEMENT REMOVED	33,217.07	SQ. YD.	\$7.00	\$232,519.49	
3	204	EXCAVATION OF SUBGRADE	50.00	CU. YD.	\$50.00	\$2,500.00	
4	204	EMBANKMENT	50.00	CU. YD.	\$200.00	\$10,000.00	
5	204	SUBGRADE COMPACTION	300.00	SQ. YD.	\$5.00	\$1,500.00	
6	254	PAVEMENT PLANING, ASPHALT CONCRETE (1-1/2")	2,733.33	SQ. YD.	\$5.00	\$13,666.65	
7	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING	113.89	CU. YD.	\$250.00	\$28,472.50	
		CRUSHED STONE, PG 64-22 (1-1/2" AVERAGE)					
8	407	NON-TRACKING TACK COAT	205.00	GALLON	\$4.00	\$820.00	
9	605	6" PIPE UNDERDRAINS, WITH FABRIC WRAP (30")	1,400.00	FOOT	\$24.00	\$33,600.00	
10	SP 611	12" CONDUIT, TYPE B, 707.33	300.00	FOOT	\$20.00	\$6,000.00	
11	614	CONSTRUCT NEW CROSSOVER FOR MAINTAINING	1.00	LUMP	\$230,000.00	\$230,000.00	
		TRAFFIC, AS PER PLAN					
12	SP 614	MAINTAINING TRAFIC, AS PER PLAN	1.00	LUMP	\$209,500.00	\$209,500.00	
13	SP 614	ZONE PERSON	1,440.00	HOURS	\$65.00	\$93,600.00	
14	615	PAVEMENT FOR MAINTAINING TRAFFIC, CLASS A,	36,725.33	SQ. YD.	\$54.60	\$2,005,203.02	
		AS PER PLAN					
15	619	FIELD OFFICE, AS PER PLAN	1.00	LUMP	\$4,000.00	\$4,000.00	
16	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$1,000.00	\$1,000.00	
17	624	MOBILIZATION	1.00	LUMP	\$100,000.00	\$100,000.00	
18	642	6" YELLOW EDGE LINE, TYPE 1	2.99	MILE	\$1,620.00	\$4,843.80	
19	642	6" WHITE EDGE LINE, TYPE 1	3.27	MILE	\$1,620.00	\$5,297.40	
TOTAL BASE BID (REF NO. 1 THRU REF. NO. 19)					\$3,001,522.86		

No

TEMPORARY ACCESS DEDUCT ALTERNATE >> A Temporary Access Deduct Alternate Proposal is included in the Bid Submittal:*:

SHELLY & SANDS, INC.

PROJECT NO. 59-20-05 (Ref. Nos. 1-19)							
Ref. No.	Item No		Description	Quantity	Units	Unit Price	Extension
1	IB. ART.	6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND	1.00	LUMP	\$14,692.47	\$14,692.47
2	2	202	PAVEMENT REMOVED	33,217.07	SQ. YD.	\$11.00	\$365,387.77
3	2	204	EXCAVATION OF SUBGRADE	50.00	CU. YD.	\$72.00	\$3,600.00
4	2	204	EMBANKMENT	50.00	CU. YD.	\$170.00	\$8,500.00
5	2	204	SUBGRADE COMPACTION	300.00	SQ. YD.	\$2.00	\$600.00
6	2	254	PAVEMENT PLANING, ASPHALT CONCRETE (1-1/2")	2,733.33	SQ. YD.	\$5.00	\$13,666.65
7	SP 404		ASPHALT CONCRETE SURFACE COURSE, USING CRU	113.89	CU. YD.	\$245.00	\$27,903.05
8	4	107	NON-TRACKING TACK COAT	205.00	GALLON	\$3.00	\$615.00
9	6	605	6" PIPE UNDERDRAINS, WITH FABRIC WRAP (30")	1,400.00	FOOT	\$15.00	\$21,000.00
10	SP 611		12" CONDUIT, TYPE B, 707.33	300.00	FOOT	\$20.00	\$6,000.00
11	6	314	CONSTRUCT NEW CROSSOVER FOR MAINTAINING TR	1.00	LUMP	\$320,000.00	\$320,000.00
12	SP 614		MAINTAINING TRAFIC, AS PER PLAN	1.00	LUMP	\$320,000.00	\$320,000.00
13	SP 614		ZONE PERSON	1,440.00	HOURS	\$95.00	\$136,800.00
14	. 6	315	PAVEMENT FOR MAINTAINING TRAFFIC, CLASS A, AS	36,725.33	SQ. YD.	\$40.00	\$1,469,013.20
15	6	319	FIELD OFFICE, AS PER PLAN	1.00	LUMP	\$15,000.00	\$15,000.00
16	SP 623		CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$4,000.00	\$4,000.00
17	6	324	MOBILIZATION	1.00	LUMP	\$300,000.00	\$300,000.00
18	6	342	6" YELLOW EDGE LINE, TYPE 1	2.99	MILE	\$1,620.00	\$4,843.80
19	6	642	6" WHITE EDGE LINE, TYPE 1	3.27	MILE	\$1,620.00	\$5,297.40
			TOTAL BASE BID (REF NO. 1 THRU REF. NO. 19)				\$3,036,919.34

TEMPORARY ACCESS DEDUCT ALTERNATE >> A Temporary Access Deduct Alternate Proposal is